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Choose the correct answe

1.

For preparation of any p-alcoh
a. GR + HCHO =

¢. GR + Ketone '

An organic compound A reac , n rms B. On heating with
conc. HaSOy, A gives diethyl ethe '

a. CoHsOH and CaHsONa

c. C3H;OH and CiH;ONa

The major product in the giv
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The example of a trihydric alcohol is
a. glyceraldehyde
c. ethylene glycol

b. glycerol
d. ethanol

Acetone when reacts with methyl magnesium bromide (CH3;MgBr) produce

a. 1° alcohol
c. 3" alcohol

b. 2" alcohol
d. no reaction

The main reagent for Hydroboration - Oxidation reaction of alkene is

a. BoHe
c. CrO;3-H>50;4

b. Ho/Pd
d. Hg(OAC):

When cyclohexene is treated with mCPBA, the product is a/an

a. alcohol
c. aldehyde

Benzene diazonium chloride upon reaction with aqueous solution produce

a. benzene
¢. catechol

b. epoxide
d. ketone

b. Bromobenzene
d. Phenol!

Reimer-Tieman reaction proceed via the formation of

a. free radical
¢. carbanion

b. carbocation
d. carbene

The correct order of the acidic strength of the following:
COOH  COOH  COOH
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a. I>11>111
c [I>11>]

Hoffmann Bromamide reaction convert

a. primary amide to a primary amine
c. primary amide to an aldehyde

b. [11>1>11
d. I>111>11

b. primary amide to a primary alcohol
d. primary alcohol to a primary amine

The substrate which can undergo Cannizzaro reaction is

a. Enolizable aldehyde
c. Enolizable ketone

b. Non-enolizable aldehyde
d. Non-enolizable ketone

The intermediate compound of Aldol reaction is

a. a -Hydroxy ester
c. p-Hydroxy ester

b. a-Hydroxy carbonyl
d. B-Hydroxy carbonyl

The compound which can be used as Michael acceptor is

a. a-P unsaturated carbonyl
¢. y-8 unsaturated carbonyl
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b. B-y unsaturated carbonyl
d. All of these
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es not undergo oxidation with PD(
b. tertiary butanol

d. kthano

\ined by the oxidation of thioethers with |

b. Sulphide

d. Sulphoxide
the following reaction?
R'X
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b. Thioethers
d. Halo acids






b.Write down the | : £ o
reactions =

Mg ) CHyCHO
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dry ether i) NH4CI / HoC

ynthesis of the follow ing compounds
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